## Bid #TRN2115471B1 - New Transit Shelters and Amenities

Creation Date Nov 21, 2017 End Date Feb 21, 2018 2:00:00 PM EST

Start Date Jan 23, 2018 11:17:48 AM EST Awarded Date Not Yet Awarded

| TRN2115471B101-01 GROUP 1: Bench  | es - Three Seat Strai  | ght  |             |   |   |
|-----------------------------------|--|--|-------------|---|---|
| Supplier                          | Unit Price   | Qty/Unit Total Price Attch. D  |             |   |   |
| Vilman Enterprises                | First Offer - \$2,550.00   | 8 / each   | \$20,400.00 | Υ | Υ |
| Product Code: Agency Notes:       |  | Supplier Product Code: Supplier Notes: Meet Warranty Requirements (Yes or No): Yes Delivery Days After Receipt of Order (Calendar Days): 112 Brand Name Offered: Landscape Forms Product Number/Name Offered: Plexus               |             |   |   |
| Continental Construction USA, LLC | First Offer - \$2,590.00   | 8 / each   | \$20,720.00 | Υ | Υ |
| Product Code:<br>Agency Notes:    | Supplier Product Code: Supplier Notes: Meet Warranty Requirements (Yes or No): yes Delivery Days After Receipt of Order (Calendar Days): 112 Brand Name Offered: landscapeforms Product Number/Name Offered: Plexus II Bench |  |             |   |   |
| Advanced Service Management, Inc  | First Offer - \$2,650.95   | 8 / each   | \$21,207.60 |   | Υ |
| Product Code:<br>Agency Notes:    |  | Supplier Product Code: 01-01 Supplier Notes: Meet Warranty Requirements (Yes or No): Yes Delivery Days After Receipt of Order (Calendar Days): 112 Brand Name Offered: LandscapeForms Product Number/Name Offered: Plexus II Bench |             |   |   |

| TRN2115471B101-02 GROUP 1: Benches - Freestanding Three Seat |                              |  |             |        |      |  |  |
|--|------------------------------|--|-------------|--------|------|--|--|
| Supplier   | Unit Price                   | Qty/Unit   | Total Price | Attch. | Docs |  |  |
| Vilman Enterprises   | First Offer - \$3,128.00     | 5 / each   | \$15,640.00 |        | Υ    |  |  |
| Product Code:<br>Agency Notes:                               |                              | Supplier Product Code: Supplier Notes: Meet Warranty Requirements (Yes or No): Yes Delivery Days After Receipt of Order (Calendar Days): 112 Brand Name Offered: Landscape Forms Product Number/Name Offered: Presidio     |             |        |      |  |  |
| Continental Construction USA, LLC                            | First Offer - \$3,175.00     | 5 / each   | \$15,875.00 |        | Υ    |  |  |
| Product Code:<br>Agency Notes:                               |                              | Supplier Product Code: Supplier Notes: Meet Warranty Requirements (Yes or No): yes Delivery Days After Receipt of Order (Calendar Days) 112 Brand Name Offered: landscapeforms Product Number/Name Offered: Presidio Bench |             |        |      |  |  |
| Advanced Service Management, Inc                             | First Offer - \$3,279.08     | 5 / each   | \$16,395.40 |        | Υ    |  |  |
| Product Code:  | Supplier Product Code: 01-02 |  |             |        |      |  |  |

|               | i age 2 of 11   |
|---------------|---|
| Agency Notes: | Supplier Notes: Meet Warranty Requirements (Yes or    |
|               | No): Yes  |
|               | Delivery Days After Receipt of Order (Calendar Days): |
|               | 112   |
|               | Brand Name Offered: Landscapeforms                    |
|               | Product Number/Name Offered : Presidio Bench          |
|               |   |

| Supplier                          | Unit Price               | Qty/Unit   | Total Price Attch. |  |        |
|-----------------------------------|--------------------------|--|--------------------|--|--------|
| Vilman Enterprises                | First Offer - \$3,269.00 | 17 / each  | \$55,573.00        |  | Υ      |
| Product Code:<br>Agency Notes:    |                          | Supplier Product Code: Supplier Notes: Meet Warranty Requirements (Yes or No): Yes Delivery Days After Receipt of Order (Calendar Days): 112 Brand Name Offered: Landscape Forms Product Number/Name Offered: Chase Park         |                    |  |        |
| Continental Construction USA, LLC | First Offer - \$3,325.00 | 17 / each  | \$56,525.00        |  | Υ      |
| Product Code:<br>Agency Notes:    |                          | Supplier Product Code: Supplier Notes: Meet Warranty Requirements (Yes No): yes Delivery Days After Receipt of Order (Calendar Day 112 Brand Name Offered: landscapeforms Product Number/Name Offered: Chase Park Bench          |                    |  | Days): |
| Advanced Service Management, Inc  | First Offer - \$3,435.60 | 17 / each  | \$58,405.20        |  | Υ      |
| Product Code:<br>Agency Notes:    |                          | Supplier Product Code: 01-03 Supplier Notes: Meet Warranty Requirements (Yes o No): Yes Delivery Days After Receipt of Order (Calendar Days 112 Brand Name Offered: Landscapeforms Product Number/Name Offered: Chase Park Bench |                    |  | Days): |

| TRN2115471B101-04 GROUP 1: Trash Receptacle - Top Opening   |                          |   |   |           |      |  |
|---|--------------------------|---|---|-----------|------|--|
| Supplier  | Unit Price               | Qty/Unit  | Total Price                             | Attch.    | Docs |  |
| Vilman Enterprises  | First Offer - \$2,178.00 | 67 / each   | \$145,926.00                            |           | Υ    |  |
| Product Code: Agency Notes:  Supplier Product Code: Supplier Notes: Meet Warranty Requireme No): Yes Delivery Days After Receipt of Order (Cale 112 Brand Name Offered: Landscape Forms Product Number/Name Offered: Chase Park |                          |   | `alendar [                              | Days):    |      |  |
| Continental Construction USA, LLC   | First Offer - \$2,210.00 | 67 / each   | \$148,070.00                            |           | Υ    |  |
| Product Code:<br>Agency Notes:  |                          | No): yes<br>Delivery Days After<br>112<br>Brand Name Offere | et Warranty Require Receipt of Order (C | àlendar [ |      |  |

| Advanced Service Management, Inc | First Offer - \$2,231.59 | 67 / each   | \$149,516.53          |                       |  |
|----------------------------------|--------------------------|---|-----------------------|-----------------------|--|
|                                  | 113t Offer - Ψ2,231.33   |   |                       | '                     |  |
| Product Code:                    |                          | Supplier Product Co                                   |                       |                       |  |
| Agency Notes:                    |                          | Supplier Notes: Meet Warranty Requirements (Yes or    |                       |                       |  |
|                                  |                          | No): Yes  |                       |                       |  |
|                                  |                          | Delivery Days After Receipt of Order (Calendar Days): |                       |                       |  |
|                                  |                          | 112   |                       |                       |  |
|                                  |                          | Brand Name Offered: Landscapeforms                    |                       |                       |  |
|                                  |                          | Product Number/Na                                     | ame Offered : Chase F | Park Litter - 40 gal. |  |
|                                  |                          |   |                       | ŭ                     |  |

| TRN2115471B101-05 GROUP 1: Trash Supplier   | Unit Price                   | 1   | Total Price                                | Attch.    | Docs   |
|---|------------------------------|---|--|-----------|--------|
| Vilman Enterprises  |                              | 16 / each   | \$34,848.00                                | 71000111  | Y      |
| Product Code:<br>Agency Notes:  | Code: Supplier Product Code: |   |  | alendar I | Days): |
| Continental Construction USA, LLC   | First Offer - \$2,210.00     | 16 / each   | \$35,360.00                                |           | Υ      |
| Product Code:<br>Agency Notes:  |                              | Supplier Product Code: Supplier Notes: Meet Warranty Requirements (Yes or No): yes Delivery Days After Receipt of Order (Calendar Days) 112 Brand Name Offered: lanscapeforms Product Number/Name Offered: Chase Park litter 36 gal |  |           |        |
| Advanced Service Management, Inc  | First Offer - \$2,252.59     | 16 / each   | \$36,041.44                                |           | Υ      |
| Product Code: Agency Notes:  Supplier Product Code: 01-05 Supplier Notes: Meet Warranty No): Yes Delivery Days After Receipt of 112 Brand Name Offered: Landscape Product Number/Name Offered |                              |   | et Warranty Require<br>Receipt of Order (C |           |        |

| TRN2115471B101-06 GROUP 1: Trash Receptacle - Side Opening with Welded Diameter Backer Plate |  |                     |             |        |      |  |  |
|--|--|---------------------|-------------|--------|------|--|--|
| Supplier   | Unit Price   | Qty/Unit            | Total Price | Attch. | Docs |  |  |
| Vilman Enterprises   | First Offer - \$2,287.00   | 10 / each           | \$22,870.00 |        | Υ    |  |  |
| Product Code:<br>Agency Notes:   | Supplier Product Code: Supplier Notes: Meet Warranty Requirements (Yes or No): Yes Delivery Days After Receipt of Order (Calendar Days): 112 Brand Name Offered: Landscape Forms Product Number/Name Offered: Chase Park |                     |             |        |      |  |  |
| Continental Construction USA, LLC  | First Offer - \$2,325.00   | 10 / each           | \$23,250.00 |        | Υ    |  |  |
| Product Code:  |  | Supplier Product Co | ode:        |        |      |  |  |

|                                  | County Co   | mmissioners   | ļ   | Page 4 of 1 | 1      |
|----------------------------------|---|---|---|-------------|--------|
| Agency Notes:                    | Supplier Notes: Meet Warranty Requirements (Yes or No): yes Delivery Days After Receipt of Order (Calendar Days): 112 Brand Name Offered: landscapeforms Product Number/Name Offered: Chase Park litter side opening two welded |   |   |             |        |
| Advanced Service Management, Inc | First Offer - \$2,386.99  | 10 / each   | \$23,869.90   |             | Υ      |
| Product Code:<br>Agency Notes:   |   | No): Yes<br>Delivery Days After<br>112<br>Brand Name Offere | et Warranty Require Receipt of Order (C d: Landscapeforms ame Offered: CP999- | `alendar I  | Days): |

| TRN2115471B101-07 GROUP 1: Trash Receptacle - Side Opening |                          |  |             |        |      |  |
|--|--------------------------|--|-------------|--------|------|--|
| Supplier   | Unit Price               | Qty/Unit   | Total Price | Attch. | Docs |  |
| Advanced Service Management, Inc                           | First Offer - \$1,462.87 | 2 / each   | \$2,925.74  |        | Υ    |  |
| Product Code:<br>Agency Notes:                             |                          | Supplier Product Code: 01-07 Supplier Notes: Meet Warranty Requirements (Yes No): Yes Delivery Days After Receipt of Order (Calendar Day 112 Brand Name Offered: Landscapeforms Product Number/Name Offered: Lakeside Litter |             |        |      |  |
| Vilman Enterprises   | First Offer - \$1,500.00 | 2 / each   | \$3,000.00  |        | Υ    |  |
| Product Code: Agency Notes:                                |                          | Supplier Product Code: Supplier Notes: Meet Warranty Requirements (Yes or No): Yes Delivery Days After Receipt of Order (Calendar Days): 112 Brand Name Offered: Landscape Forms Product Number/Name Offered: Lakeside       |             |        |      |  |
| Continental Construction USA, LLC                          | First Offer - \$1,615.00 | 2 / each   | \$3,230.00  |        | Υ    |  |
| Product Code:<br>Agency Notes:                             |                          | Supplier Product Code: Supplier Notes: Meet Warranty Requirements (Yes or No): yes Delivery Days After Receipt of Order (Calendar Days): 112 Brand Name Offered: landscapeforms Product Number/Name Offered: Lakeside litter |             |        |      |  |

| TRN2115471B101-08 GROUP 1: Bike Rack |  |           |             |        |      |  |  |
|--------------------------------------|--|-----------|-------------|--------|------|--|--|
| Supplier                             | Unit Price   | Qty/Unit  | Total Price | Attch. | Docs |  |  |
| Advanced Service Management, Inc     | First Offer - \$451.50   | 32 / each | \$14,448.00 |        | Υ    |  |  |
| Product Code:<br>Agency Notes:       | First Offer - \$451.50 32 / each \$14,448.00 Y  Supplier Product Code: 01-08 Supplier Notes: Meet Warranty Requirements (Yes or Ness)  Pes Delivery Days After Receipt of Order (Calendar Days): Brand Name Offered: Landscapeforms Product Number/Name Offered: Emerson Bike Rack |           |             |        |      |  |  |

|                                   | oounty o               | 01111111001011010          |                      | Page 5 of 1 | 1         |
|-----------------------------------|------------------------|----------------------------|----------------------|-------------|-----------|
| Vilman Enterprises                | First Offer - \$550.00 | 32 / each                  | \$17,600.00          |             | Υ         |
| Product Code:                     |                        | Supplier Product Co        | ode:                 |             |           |
| Agency Notes:                     |                        | Supplier Notes: Mee        | et Warranty Requirer | nents (Yes  | or No):   |
|                                   |                        | Yes                        |                      |             |           |
|                                   |                        | <b>Delivery Days After</b> | Receipt of Order (Ca | alendar Da  | ays): 112 |
|                                   |                        | Brand Name Offere          |                      |             |           |
|                                   |                        | Product Number/Na          | me Offered : Emerso  | n           |           |
|                                   | 11                     |                            |                      |             |           |
| Continental Construction USA, LLC | First Offer - \$605.00 | 32 / each                  | \$19,360.00          |             | Υ         |
| Product Code:                     |                        | Supplier Product Co        | ode:                 |             |           |
| Agency Notes:                     |                        | Supplier Notes: Mee        | et Warranty Requirer | nents (Yes  | s or No): |
|                                   |                        | yes                        |                      |             |           |
|                                   |                        |                            | Receipt of Order (Ca | alendar Da  | ays): 112 |
|                                   |                        | Brand Name Offere          | •                    |             |           |
|                                   |                        | Product Number/Na          | ime Offered : emmers | son bike    |           |
|                                   |                        |                            |                      |             |           |

| Supplier                          | Unit Price               | Qty/Unit   | Total Price  | Attch. | Docs |
|-----------------------------------|--------------------------|--|--|--------|------|
| Advanced Service Management, Inc  | First Offer - \$409.36   | 8 / each   | \$3,274.88   |        | Υ    |
| Product Code:<br>Agency Notes:    |                          | Supplier Product Code: 01-09 Supplier Notes: Meet Warranty Requirements (Yes of Yes Delivery Days After Receipt of Order (Calendar Days Brand Name Offered: Landscapeforms Product Number/Name Offered: Bola Bike Rack |  |        |      |
| Vilman Enterprises                | First Offer - \$500.00   | 8 / each   | \$4,000.00   |        | Υ    |
| Product Code:<br>Agency Notes:    |                          | Supplier Product Co<br>Supplier Notes: Mee<br>Yes<br>Delivery Days After<br>Brand Name Offered<br>Product Number/Na  | et Warranty Requiren<br>Receipt of Order (Ca<br>d: Landscape Forms | •      | ,    |
|                                   | First Offer - \$505.00   | 8 / each   | \$4.040.00   |        | Υ    |
| Continental Construction USA, LLC | 1 113t Office - \$500.00 | 07 Cucii   | <del>+ .,</del>  |        | T    |

| TRN2115471B101-10 GROUP 1: Shelt  | ers - Kaleidoscope Sh     | elter Modified  |                |  |        |
|-----------------------------------|---------------------------|---|----------------|--|--------|
| Supplier                          | Unit Price                | Qty/Unit Total Price Attch. D   |                |  |        |
| Vilman Enterprises                | First Offer - \$33,250.00 | 62 / each   | \$2,061,500.00 |  | Υ      |
| Product Code:<br>Agency Notes:    |                           | Supplier Product Code: Supplier Notes: Meet Warranty Requirements (Yes or No): Yes Delivery Days After Receipt of Order (Calendar Days): 112 Brand Name Offered: Landscape Forms Product Number/Name Offered: KA9990289-REV F |                |  | Days): |
| Continental Construction USA, LLC | First Offer - \$33,825.00 | 62 / each   | \$2,097,150.00 |  | Υ      |
| Product Code:<br>Agency Notes:    |                           | Supplier Product Code: Supplier Notes: Meet Warranty Requirements (Yes or No): yes Delivery Days After Receipt of Order (Calendar Days):  |                |  |        |

|                                  | County Con                | 1111331011613  | Page 6 of 11   |   |  |
|----------------------------------|---------------------------|--|----------------|---|--|
|                                  |                           | 112 Brand Name Offered: landscapeforms Product Number/Name Offered: ka99902  |                |   |  |
| Advanced Service Management, Inc | First Offer - \$34,178.82 | 62 / each  | \$2,119,086.84 | Y |  |
| Product Code:                    |                           | Supplier Product C   | ode: 01-10     |   |  |
| Agency Notes:                    |                           | Supplier Notes: Meet Warranty Requirements (Yes or No): Yes Delivery Days After Receipt of Order (Calendar Days) 112 Brand Name Offered: Landscapeforms Product Number/Name Offered: KA9990289-REV F |                |   |  |

| TRN2115471B101-11 GROUP 1: Shelt  | ters <b>- Kaleidoscope Sh</b> | elter Modified   |                     |          |        |
|-----------------------------------|-------------------------------|--|---------------------|----------|--------|
| Supplier                          | Unit Price                    | Qty/Unit   | Total Price         | Attch.   | Docs   |
| Vilman Enterprises                | First Offer - \$33,700.00     | 30 / each  | \$1,011,000.00      |          | Υ      |
| Product Code:<br>Agency Notes:    |                               | Supplier Product Code: Supplier Notes: Meet Warranty Requirements (Yes or No): Yes Delivery Days After Receipt of Order (Calendar Days) 112 Brand Name Offered: Landscape Forms Product Number/Name Offered: KA9990289-REV H |                     |          |        |
| Continental Construction USA, LLC | First Offer - \$34,200.00     | 30 / each  | \$1,026,000.00      |          | Υ      |
| Product Code:<br>Agency Notes:    |                               | No): yes<br>Delivery Days After<br>112<br>Brand Name Offere  | et Warranty Require | Calendar | Days): |
| Advanced Service Management, Inc  | First Offer - \$34,635.41     | 30 / each  | \$1,039,062.30      |          | Υ      |
| Product Code:<br>Agency Notes:    |                               | No): Yes<br>Delivery Days After<br>112<br>Brand Name Offere  | et Warranty Require | Calendar | Days): |

| TRN2115471B101-12 GROUP 1: Shelters - Kaleidoscope Shelter Modified |                           |   |              |        |      |  |  |
|---|---------------------------|---|--------------|--------|------|--|--|
| Supplier  | Unit Price                | Qty/Unit  | Total Price  | Attch. | Docs |  |  |
| Vilman Enterprises  | First Offer - \$30,850.00 | 8 / each  | \$246,800.00 |        | Υ    |  |  |
| Product Code:<br>Agency Notes:                                      |                           | Supplier Product Code: Supplier Notes: Meet Warranty Requirements (Yes or No): Yes Delivery Days After Receipt of Order (Calendar Days) 112 Brand Name Offered: Landscape Forms Product Number/Name Offered: KA9990409-99 |              |        |      |  |  |
| Advanced Service Management, Inc                                    | First Offer - \$31,225.31 | 8 / each  | \$249,802.48 |        | Υ    |  |  |
| Product Code:<br>Agency Notes:                                      |                           | Supplier Product Code: 01-12 Supplier Notes: Meet Warranty Requirements (Yes or No): Yes Delivery Days After Receipt of Order (Calendar Days  |              |        |      |  |  |

TRN2115471B1

|                                   | ·                         | 112 Brand Name Offered: Landscapeforms Product Number/Name Offered: KA9990409  |              | ge 7 of 11 |  |
|-----------------------------------|---------------------------|--|--------------|------------|--|
| Continental Construction USA, LLC | First Offer - \$31,350.00 | 8 / each   | \$250,800.00 | Υ          |  |
| Product Code:<br>Agency Notes:    |                           | Supplier Product Code: Supplier Notes: Meet Warranty Requirements (Yes No): yes Delivery Days After Receipt of Order (Calendar Da 112 Brand Name Offered: landscapeforms Product Number/Name Offered: ka9990409-99 |              |            |  |

| TRN2115471B102-01 GROUP 2: Trash  | Receptacle - Concre      | te Round Waste Cor   | ntainer     |        |      |
|-----------------------------------|--------------------------|--|-------------|--------|------|
| Supplier                          | Unit Price               | Qty/Unit   | Total Price | Attch. | Docs |
| Vilman Enterprises                | First Offer - \$900.00   | 24 / each  | \$21,600.00 |        | Υ    |
| Agency Notes:                     |                          | Supplier Product Code: Supplier Notes: Meet Warranty Requirements (Yes or No): Yes Delivery Days After Receipt of Order (Calendar Days): 4 Brand Name Offered: Wausau Tile Product Number/Name Offered: TF1160                       |             |        |      |
| Continental Construction USA, LLC | First Offer - \$935.00   | 24 / each  | \$22,440.00 |        | Υ    |
| Product Code: Agency Notes:       |                          | Supplier Product Code: Supplier Notes: Meet Warranty Requirements (Yes or No): yes Delivery Days After Receipt of Order (Calendar Days): 112 Brand Name Offered: Wausau Tile Product Number/Name Offered: tf1160                     |             |        |      |
| Advanced Service Management, Inc  | First Offer - \$1,008.58 | 24 / each  | \$24,205.92 |        | Υ    |
| Product Code: Agency Notes:       |                          | Supplier Product Code: TF1160 Supplier Notes: Meet Warranty Requirements (Yes or No): Yes Delivery Days After Receipt of Order (Calendar Days): 112 Brand Name Offered: WAUSAU Product Number/Name Offered: Concrete Waste Contained |             |        |      |

| TRN2115471B103-01 GROUP 3: Trash Receptacle - Surface Mounted |                          |  |                    |   |        |  |  |
|---|--------------------------|--|--------------------|---|--------|--|--|
| Supplier  | Unit Price               | Qty/Unit   | Total Price Attch. |   |        |  |  |
| Advanced Service Management, Inc                              | First Offer - \$1,015.83 | 3 / each   | \$3,047.49         |   | Υ      |  |  |
| Product Code:<br>Agency Notes:                                |                          | Supplier Product Code: S-01 Supplier Notes: Meet Warranty Requirements (Yes or No): yes Delivery Days After Receipt of Order (Calendar Days): 112 Brand Name Offered: Superior Recreational Products Product Number/Name Offered: 32 Gallon Trash Receptacle |                    |   | Days): |  |  |
| Vilman Enterprises  | First Offer - \$1,300.00 | 3 / each   | \$3,900.00         |   | Υ      |  |  |
| Product Code:<br>Agency Notes:                                |                          | Supplier Product Consupplier Notes: Me<br>No): Yes<br>Delivery Days After<br>112   |                    | • |        |  |  |

|                                   | County Co                | Brand Name Offered:<br>Product Number/Nam | '  | of 11      |
|-----------------------------------|--------------------------|---|--|------------|
| Continental Construction USA, LLC | First Offer - \$1,450.00 | 3 / each                                  | \$4,350.00   | Υ          |
| Product Code:<br>Agency Notes:    | γ, 100.00 γ, 100.00      |   | e: Warranty Requirements eceipt of Order (Calend Superior Recreational Produce Offered : TR32crown | lar Days): |

| TRN2115471B104-01 GROUP 4: Bike R | ack - Bike Hitch - D   | Dero or Approved Eq  | ual  |           |      |
|-----------------------------------|------------------------|--|--|-----------|------|
| Supplier                          | Unit Price             | Qty/Unit   | Total Price                                  | Attch.    | Docs |
| Vilman Enterprises                | First Offer - \$350.00 | 15 / each  | \$5,250.00                                   |           | Υ    |
| Product Code:<br>Agency Notes:    |                        | Supplier Product Code: Supplier Notes: Meet Warranty Requirements (Yes or No) Yes Delivery Days After Receipt of Order (Calendar Days): 112 Brand Name Offered: Dero Product Number/Name Offered: Bike Hitch |  |           |      |
| Continental Construction USA, LLC | First Offer - \$390.00 | 15 / each  | \$5,850.00                                   |           | Υ    |
| Product Code: Agency Notes:       |                        | yes  Delivery Days After  Brand Name Offere  | et Warranty Requirer<br>Receipt of Order (Ca | alendar D |      |
| Advanced Service Management, Inc  | First Offer - \$515.50 | 15 / each  | \$7,732.50                                   |           | Υ    |
| Product Code:<br>Agency Notes:    |                        | Yes<br>Delivery Days After<br>Brand Name Offere  | et Warranty Requirer<br>Receipt of Order (Ca | alendar D |      |

| TRN2115471B104-02 GROUP 4: Bike R | ack - Hoop   |                             |             |  |   |  |
|-----------------------------------|--|-----------------------------|-------------|--|---|--|
| Supplier                          | Unit Price   | Qty/Unit Total Price Attch. |             |  |   |  |
| Vilman Enterprises                | First Offer - \$340.00   | 44 / each                   | \$14,960.00 |  | Υ |  |
| Product Code:<br>Agency Notes:    | Supplier Product Code: Supplier Notes: Meet Warranty Requirements (Yes or No) Yes Delivery Days After Receipt of Order (Calendar Days): 112 Brand Name Offered: Dero Product Number/Name Offered: Hoop       |                             |             |  |   |  |
| Continental Construction USA, LLC | First Offer - \$360.00   | 44 / each                   | \$15,840.00 |  | Υ |  |
| Product Code:<br>Agency Notes:    | Supplier Product Code: Supplier Notes: Meet Warranty Requirements (Yes or No): yes Delivery Days After Receipt of Order (Calendar Days): 112 Brand Name Offered: Dero Product Number/Name Offered: Hoop Rack |                             |             |  |   |  |
| Advanced Service Management, Inc  | First Offer - \$515.00   | 44 / each                   | \$22,660.00 |  | Υ |  |

Exhibit 1 TRN2115471B1
Page 9 of 11

|               | Page 9 of 11  |      |
|---------------|---|------|
| Product Code: | Supplier Product Code: D-02                           |      |
| Agency Notes: | Supplier Notes: Meet Warranty Requirements (Yes or N  | ۱o): |
|               | Yes   |      |
|               | Delivery Days After Receipt of Order (Calendar Days): | 112  |
|               | Brand Name Offered: Dero                              |      |
|               | Product Number/Name Offered: Hoop Rack                |      |
|               |   |      |

| Supplier                          | Unit Price  | Qty/Unit  | Total Price   | Attch.    | Docs |
|-----------------------------------|---|---|---|-----------|------|
| Advanced Service Management, Inc  | First Offer - \$815.00  | 2 / each  | \$1,630.00  |           | Υ    |
| Product Code:<br>Agency Notes:    | Supplier Product Code: D-04 Supplier Notes: Meet Warranty Requirements (Yes or No) Yes Delivery Days After Receipt of Order (Calendar Days): 112 Brand Name Offered: Dero Product Number/Name Offered: Bike Bike Rack |   |   |           |      |
| Vilman Enterprises                | First Offer - \$825.00  | 2 / each  | \$1,650.00  |           | Υ    |
| Product Code:<br>Agency Notes:    |   | Supplier Product Co<br>Supplier Notes: Mee<br>Yes<br>Delivery Days After<br>Brand Name Offered<br>Product Number/Na | et Warranty Requirer<br>Receipt of Order (Ca<br>d: Dero | -         |      |
| Continental Construction USA, LLC | First Offer - \$885.00  | 2 / each  | \$1,770.00  |           | Υ    |
| Product Code:<br>Agency Notes:    |   | Supplier Product Co<br>Supplier Notes: Mee<br>yes<br>Delivery Days After<br>Brand Name Offered<br>Product Number/Na | et Warranty Requirer<br>Receipt of Order (Ca<br>d: Dero | alendar D |      |

| $\sim$       |    | 1                         |    | " | <b>T</b> - | a - I |   |
|--------------|----|---------------------------|----|---|------------|-------|---|
| ~1           | ın | nı                        | ΙО | r | Τо         | Tai   |   |
| $\mathbf{v}$ | uv | $\mathbf{p}_{\mathbf{i}}$ |    |   | ··         | LUI   | • |
|              |    |                           |    |   |            |       |   |

| Supplier 10   | ıaıs  |   |                     |  |
|---------------|---|---|---------------------|--|
| f Vilman E    | nterprises  | \$3,686,517.00 (17/                               | 17 items)           |  |
| ,             | Natalia Rivera<br>vilman.enterprises@outlook.com<br>Ph 954-296-1604             | Address FORT LAUDERDALE, FL 33332                 |                     |  |
| Agency Not    | es:   | Supplier Notes:                                   | Head<br>Attch:<br>⊮ |  |
| f Continen    | tal Construction USA, LLC   | \$3,750,630.00 (17/17                             | items)              |  |
|               | yulius negrin<br>info@usacontinental.com<br>Ph 305-305-9741                     | Address 450 grand bay drive key biscayne, FL 3314 | 9                   |  |
| Agency Notes: |   | Supplier Notes:                                   | Head Attch<br>』     |  |
| f Advance     | d Service Management, Inc   | \$3,793,312.22 (17/                               | 17 items)           |  |
| Bid Contact   | Sonny Mohamed<br>sonny.mohamed@gmail.com<br>Ph 954-668-9234<br>Fax 305-916-1133 | Address 2237 NW 77th Terrae Pembroke Pines, FL 3  |                     |  |

Broward County Board of County Commissioners

Exhibit 1 Page 10 of 11 TRN2115471B1

Supplier Code VC0000116321

Qualifications DBE SB

Agency Notes: Supplier Notes: Head Attch:

## No Bids

5 Star Enterprise, Inc Out of my scope of services

Belson Outdoors, LLC. don't have

Brasco International, Inc. Will not meet spec.

LNI Custom Manufacturing Inc No equal product available at this time.